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ADVANCED FRENCH POLITICS

Answer TWO questions, ONE from EACH section. Use a separate answer book for
each question.

You may answer in English or in French, but no special credit will be given for
writing in French rather than in English.

Please note that AT LEAST ONE option paper MUST be written in English.

DO NOT BASE BOTH ANSWERS IN THIS PAPER, OR AN ANSWER IN THIS
PAPER AND ONE IN ANOTHER OPTION PAPER, ON THE SAME TEXT OR ON
SUBSTANTIALLY THE SAME MATERIAL.

SECTION A
PLEASE USE A SEPARATE ANSWER BOOK FOR EACH QUESTION.

1. ‘Quelqu’un qui entre en politique doit opérer une conversion et méme si celle-ci
ne lui apparait pas comme telle, méme s’il n’en a pas conscience, elle lui est
tacitement imposée, la sanction en cas de transgression étant I'échec ou
I’exclusion.” Discuss this statement, giving examples to illustrate your answer.

2. To what extent can France be said to have a multiparty system?

3. ‘La création de I'UMP a marqué la fin de la co-existence de différents courants
d’opinion au sein de la droite frangaise.” Discuss.

4. Assess whether the division into several parties represents a political advantage
or a handicap for the French Left.

SECTION B
PLEASE USE A SEPARATE ANSWER BOOK FOR EACH QUESTION.

5. To what extent, in your view, does the ‘socio-cultural model’ provide a pertinent
analytical tool for understanding voting behaviour in France today? Give
examples to illustrate your answer.

6. ‘Contrairement a une idée répandue, les médias ne peuvent, & eux seuls, éduquer
politiquement les citoyens. Lorsqu’ils exercent un effet dans ce domaine, ils
n’éduquent que ceux qui sont déja politiquement éduqués.’ Discuss.

7. ‘Les sondages politiques ont toute [’apparence d’un outil démocratique, alors
qu’en réalit€ ils constituent une menace pour la démocratie.” Discuss.
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8. To what extent can the success of social movements in France today be explained
by the weakness and discredit into which the French Left has fallen?

9. ‘Au-dela de leurs différences, ce qui rassemble les divers courants au sein des
mouvements sociaux en France, c’est une critique des effets du néo-libéralisme
économique.” Discuss this statement, giving examples to illustrate your answer.

END OF PAPER
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